[ Efficiency vs vertpos |
0.8

0.7

0.6

0.5

etticiency vs vert r

0.4
0.3
0.2F

0.1

Ratio

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__mkFit_baseline
Efficiend —— pom_v0001_R000000001__ Global__mkFit_ BASELINE-2

0.8

N F

-l r . . . . .

[} F . . . . .

> 0.7 R P s
[ o : . : : .

> o H H H H H

O T SRTCT U0 (IR SRS RS SN
c - . . . . .

q_) - . . . .

5 o

=

[}

iﬂ”ﬂﬁ o

L, S O 1 S -

L SRS e S S S

Ratio

H
T

0¥/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

1_

0.8

0.6~

efficiency vs Sim. PV z

0.4

i

Ratio

B
TTTTT
T

420 2 4 6 8 10
Sim. PV z (cm)

|

B

o

| . L
|

o2}



	Contents
	Page 1


